

An Osgood condition for a semilinear reaction–diffusion equation with time-dependent generator

JOSÉ VILLA-MORALES

Universidad Autónoma de Aguascalientes, Departamento de Matemáticas y Física, Aguascalientes, Ags., Mexico

Received 31 December 2013; received in revised form 3 April 2014; accepted 3 July 2014 Available online 11 August 2014

Abstract. In this note we give a sufficient condition for blow up of positive mild solutions to an initial value problem for a non-autonomous equation with fractional diffusion.

Keywords: Blow up; Non-autonomous initial value problem; Fractional diffusion; Osgood criterion

2010 Mathematics Subject Classification: primary 35K55; 35K45; secondary 35B40; 35K20

1. INTRODUCTION

In this paper we study blow up of positive mild solutions of

$$\frac{\partial}{\partial t}u(t,x) = k(t)\,\Delta_{\alpha}u(t,x) + h(t)\,R(u(t,x)), \quad t > 0, \ x \in \mathbb{R}^d,$$

$$u(0,x) = \varphi(x), \quad x \in \mathbb{R}^d,$$
(1)

where $\Delta_{\alpha} = -(-\Delta/2)^{\alpha/2}$, $0 < \alpha \leq 2$, is the α -Laplacian, $\varphi : \mathbb{R}^d \to \mathbb{R}$ is a function non negative, bounded, continuous and $k, h, R : [0, \infty) \to [0, \infty)$ are continuous functions.

If there exists a solution u of (1) defined in $[0, \infty) \times \mathbb{R}^d$, we say that u is a (classical) global solution, on the other hand if there exists a number $t_e < \infty$ such that u is unbounded in $[0, t] \times \mathbb{R}^d$, for each $t > t_e$, we say that u blows up in finite time.

Peer review under responsibility of King Saud University.



Production and hosting by Elsevier

http://dx.doi.org/10.1016/j.ajmsc.2014.07.001

E-mail address: jvilla@correo.uaa.mx.

^{1319-5166 © 2014} King Saud University. Production and Hosting by Elsevier B.V. All rights reserved.

It is well known [4] that the associated integral system of (1) is

$$u(t,x) = \int_{\mathbb{R}^d} p\left(K(t), y - x\right) \varphi(y) dy + \int_0^t \int_{\mathbb{R}^d} p\left(K(s,t), y - x\right) h\left(s\right) R(u\left(s,y\right)) dy ds.$$
(2)

Here p(t, x) denotes the fundamental solution of $\frac{\partial}{\partial t} - \Delta_{\alpha}$, this function is symmetric in the spatial component (we state more properties of p(t, x) in Lemma 7). We also define

$$K(s,t) = \int_{s}^{t} k(r) dr, \quad 0 \le s \le t,$$

where K(t) := K(0, t).

We say that u is a mild solution of (1) if u is a solution of (2). The main result is:

Theorem 1. Assume the previous hypotheses on φ , k, h and R. Also suppose:

 $\begin{array}{l} (H1) \ R \ is \ an \ increasing \ and \ convex \ function \ in \ [0,\infty), \\ (H2) \ \int_{1}^{\infty} \frac{ds}{R(s)} < \infty, \\ (H3) \ \lim_{t \to \infty} \frac{k(t)}{K(t)h(t)} = L \in [0,\infty), \\ (H4) \ \int_{1}^{\infty} h(s) ds = \infty, \\ (H5) \ \lim_{t \to \infty} \frac{\exp(c \int_{1}^{t} h(s) ds)}{(K(1,t))^{d/\alpha}} = \infty, \ for \ each \ c > 0. \\ Let \ J : \ [0,\infty) \to \ [0,\infty) \ be \ a \ continuous \ function \ satisfying \\ (H6) \ J \ is \ submultiplicative, \ i.e., \ there \ exists \ a \ constant \ \tilde{a} > 0 \ such \ that \ J(x)J(y) \geq \\ \tilde{a}J(xy), \ for \ each \ x, \ y > 0, \\ (H7) \ \lim_{x \downarrow 0} \frac{R(x)}{J(x)} = \tilde{L} \in (0,\infty], \\ (H8) \ \int_{1}^{\infty} \frac{h(s)(2K(s))^{d/\alpha}}{J((2K(s))^{d/\alpha}} ds = \infty \ and \ \int_{1}^{\infty} \frac{ds}{J(s)} < \infty. \\ Then \ all \ non-trivial \ positive \ solutions \ of \ (2) \ blow \ up \ in \ finite \ time. \end{array}$

The importance of the study of equations like (1) is well known in applied mathematics. For example, they arise in fields like molecular biology, hydrodynamics and statistical physics [7]. Also, notice that generators of the form $g_i(t) \Delta_{\alpha_i}$ arises in models of anomalous growth of certain fractal interfaces [3].

There are many related works (see for instance [1,5,6] and the references cited therein) and some of them are contained in the following:

Example 2. Assume that

$$k(t) = t^{\rho-1},$$

$$h(t) = t^{\sigma-1},$$

$$R(x) = x^{1+\beta},$$

$$J(x) = x^p + x^q,$$

where ρ, σ, β, p and q are positive constants. If

 $1+\beta \leq q \leq p \quad \text{and} \quad \sigma \geq (q-1)\frac{\alpha\rho}{d}$

then each non trivial solution of (2) blows up in finite time. If we take $p = q = 1 + \beta$, then we have Theorem 2 in [4] as particular case. We also have, as particular case, the blow up result in [8] when

$$1 \leq q \leq p \quad \text{and} \quad p \leq 1 + \frac{\alpha}{d}$$

and $\rho = 1, \sigma = 1, q = p$. In this case R is a convex function satisfying the hypotheses in Theorem 1.

Let us present others interesting examples.

Example 3. Let us take

$$k(t) = 1,$$

$$h(t) = t^{1+d/\alpha},$$

$$R(x) = e^x,$$

$$J(x) = (1+x)^2.$$

In this case there is blows up in finite time of the mild solution of the corresponding integral equation. However, observe that hypothesis (F.2) in [8] is not satisfied since

$$\lim_{x\downarrow 0} \frac{e^x}{x^{1+\gamma}} \notin (0,\infty)$$

for each $\gamma \in \mathbb{R} \setminus \{-1\}$. Therefore the criterion in [8] can not be applied.

In the above examples the submultiplicative function J is a power, but this is not necessary. Several examples of submultiplicative functions are presented in [2], one of them is the function $\log(e + x)$. Observe that $a_1 x^{b_1} (\log(x + e))^{c_1} + a_2 x^{b_2} (\log(x + e))^{c_2}$, is also submultiplicative if $a_i, b_i, c_i \ge 0, i = 1, 2$.

Example 4. Now take

$$k(t) = e^{-t},$$

 $h(t) = 1,$
 $R(x) = (x + e)(\log(x + e))^{1+\beta},$
 $J(x) = R(x),$

where $\beta > 0$. This example is quite informative because, contrary to the above example, now the contribution of the reaction component and the diffusion component is small, but large enough (R(x) > x) so that there is blows up in finite time of the mild solution of the corresponding integral equation.

The paper is organized as follows. In Section 1 we prove the existence of local solutions for Eq. (2). In Section 2 we give some preliminary results and we reduce the study of explosion to the case of the time component, finally in Section 3 we prove the main result.

2. LOCAL EXISTENCE

The existence of local solutions to (2) follows form the Banach contraction principle, as we shall see.

Let us introduce some normed linear spaces. By $L^{\infty}(\mathbb{R}^d)$ we denote the space of all realvalued functions essentially bounded defined on \mathbb{R}^d . Let $\tau > 0$ be a real number that we will fix later. Define

$$E_{\tau} = \left\{ u : [0, \tau] \to L^{\infty} \left(\mathbb{R}^d \right), \| \| u \| < \infty \right\},$$

where

$$|||u||| = \sup \{ ||u(t)||_{\infty} : 0 \le t \le \tau \}.$$

Then E_{τ} is a Banach space and the sets, r > 0,

$$P_{\tau} = \{ u \in E_{\tau} : u \ge 0 \}, \qquad B_{\tau,r} = \{ u \in E_{\tau} : |||u||| \le r \},$$

are closed subspaces of E_{τ} .

Theorem 5. Let $\varphi : \mathbb{R}^d \to \mathbb{R}$ be a bounded non negative function, $k, h : [0, \infty) \to [0, \infty)$ are continuous functions and $R : [0, \infty) \to [0, \infty)$ is a convex function. There exists a $\tau > 0$ such that the integral equation (2) has a local solution in $B_{\tau,\tau} \cap P_{\tau}$.

Proof. Define the operator $\Psi : B_{\tau,r} \cap P_{\tau} \to E_{\tau}$, by

$$\Psi(u)(t,x) = \int_{\mathbb{R}^d} p(K(t), y - x) \varphi(y) dy + \int_0^t \int_{\mathbb{R}^d} p(K(s,t), y - x) h(s) R(u(s,y)) dy ds.$$

Since $\varphi \ge 0$, $u \ge 0$, it is clear that $\Psi(u) \ge 0$, then $\Psi(u) \in P_{\tau}$. For each $t \in [0, \tau]$, $x \in \mathbb{R}^d$ and $u \in B_{\tau,r}$,

$$\begin{split} \Psi\left(u\right)\left(t,x\right) &\leq \|\varphi\|_{\infty} \int_{\mathbb{R}^{d}} p\left(K\left(t\right), y-x\right) dy \\ &+ \int_{0}^{t} \int_{\mathbb{R}^{d}} p\left(K\left(s,t\right), y-x\right) h\left(s\right) R(\|u\left(s\right)\|_{\infty}) dy ds \\ &\leq \|\varphi\|_{\infty} + \int_{0}^{t} \int_{\mathbb{R}^{d}} p\left(K\left(s,t\right), y-x\right) h\left(s\right) R(r) dy ds \\ &= \|\varphi\|_{\infty} + R(r) \int_{0}^{\tau} h\left(s\right) ds, \end{split}$$

then

$$||\!||\Psi(u)|\!|\!|| \le ||\varphi||_{\infty} + R(r) \int_0^\tau h(s) \, ds.$$

Let us take $r = 1 + \|\varphi\|_{\infty}$. Since

$$\lim_{t \to 0} \int_0^t h(s) \, ds = 0, \tag{3}$$

we can choose $\tau > 0$ small enough such that

$$R(r)\int_0^\tau h(s)\,ds < 1.$$

Then $\Psi(u) \in B_{\tau,r} \cap P_{\tau}$, therefore $\Psi(B_{\tau,r} \cap P_{\tau}) \subset B_{\tau,r} \cap P_{\tau}$. Now let us see that Ψ is a contraction. Let $u, \tilde{u} \in B_{\tau,r} \cap P_{\tau}$,

$$\begin{split} |\Psi(u)(t,x) - \Psi(\tilde{u})(t,x)| \\ &= \left| \int_0^t \int_{\mathbb{R}^d} p\left(K(s,t), y - x \right) h(s) \left[R(u(s,y)) - R(\tilde{u}(s,y)) \right] dy ds \right| \\ &\leq \sup_{t \in [0,\tau]} \int_0^t \int_{\mathbb{R}^d} p\left(K(s,t), y - x \right) h(s) \left| R(u(s,y)) - R(\tilde{u}(s,y)) \right| dy ds \end{split}$$

Since R is convex on [0, r], we have for each $0 \le x < y \le r$,

$$\frac{R(y) - R(x)}{y - x} \le D_l R(r),$$

where $D_l R(r)$ is the left-hand derivative of R at r (it always exist for convex functions, see Theorem 14.5 in [9]). From this we can deduce

$$\begin{aligned} |R(u(s,y)) - R(\tilde{u}(s,y))| &\leq D_l R(r) \left| u(s,x) - \tilde{u}(s,x) \right| \\ &\leq D_l R(r) \| u(s) - \tilde{u}(s) \|_{\infty}, \end{aligned}$$

this turns out

$$\| \Psi(u) - \Psi(\tilde{u}) \| \leq \sup_{t \in [0,\tau]} \int_0^t h(s) D_l R(r) \| u(s) - \tilde{u}(s) \|_{\infty} ds$$
$$\leq \left\{ D_l R(r) \int_0^\tau h(s) ds \right\} \| u - \tilde{u} \|.$$

Using again (3) we can choose $\tau > 0$ small enough such that Ψ is a contraction. Therefore Ψ has a unique fixed point, the local solution to the integral equation (2).

3. PRELIMINARY RESULTS

We begin recalling a basic integral inequality:

Theorem 6 (Jensen's Inequality). Let (X, \mathcal{A}, μ) be a finite measure space and f a realvalued integrable function. If φ is a convex function on an open interval I in \mathbb{R} and if $f(X) \subset I$, then

$$\varphi\left(\frac{1}{\mu(X)}\int_X fd\mu\right) \leq \frac{1}{\mu(X)}\int_X (\varphi \circ f)d\mu.$$

Proof. See Theorem 14.16 in [9].

Also we state some properties of α -stable densities:

Lemma 7. For any
$$s, t > 0$$
 and any $x, y \in \mathbb{R}^d$, we have
(i) $p(ts, x) = t^{-d/\alpha} p(s, t^{-1/\alpha} x)$.
(ii) $p(t, x) \ge \left(\frac{s}{t}\right)^{d/\alpha} p(s, x)$, for $t \ge s$.

Proof. The proof can be seen in Section 2 of [8].

The first step is to make a shift in the time for a proper instant, this instant is given by the following result.

Lemma 8. Let u be a positive solution of (2), then

$$u(t_0, x) \ge c(t_0)p(\gamma, x), \quad \forall x \in \mathbb{R}^d,$$
(4)

where t_0 , γ and $c(t_0)$ are positive constants.

Proof. See Lemma 1 in [4]. ■

Using the semigroup property and the previous time t_0 (see (4)) we have

$$\begin{split} u(t+t_0,x) &= \int_{\mathbb{R}^d} p\left(K\left(t_0,t+t_0\right),y-x\right)u(t_0,y)dy \\ &+ \int_0^t \int_{\mathbb{R}^d} p\left(K\left(s+t_0,t+t_0\right),y-x\right)h\left(s+t_0\right)R(u\left(s+t_0,y\right))dyds \\ &\geq c(t_0) \int_{\mathbb{R}^d} p\left(K\left(t_0,t+t_0\right),y-x\right)p\left(\gamma,y\right)dy \\ &+ \int_0^t \int_{\mathbb{R}^d} p\left(K\left(s+t_0,t+t_0\right),y-x\right)h\left(s+t_0\right)R(u\left(s+t_0,y\right))dyds \\ &= c(t_0)p\left(K\left(t_0,t+t_0\right)+\gamma,x\right) \\ &+ \int_0^t \int_{\mathbb{R}^d} h\left(s+t_0\right)p\left(K\left(s+t_0,t+t_0\right),y-x\right)R(u\left(s+t_0,y\right))dyds. \end{split}$$

In order to eliminate the contribution of the spatial component, we multiply both sides of the previous inequality by $p(K(t + t_0), x)$ and then we integrate with respect to x, afterwards we use Fubini's theorem and the semigroup property to get

$$\bar{u}(t) \geq c(t_0) \int_{\mathbb{R}^d} p(K(t+t_0), x) p(K(t_0, t+t_0) + \gamma, x) dx + \int_0^t h(s+t_0) \int_{\mathbb{R}^d} \int_{\mathbb{R}^d} p(K(t+t_0), x) p(K(s+t_0, t+t_0), y-x) \times R(u(s+t_0, y)) dx dy ds = c(t_0) p(K(t+t_0) + K(t_0, t+t_0) + \gamma, 0) + \int_0^t h(s+t_0) \int_{\mathbb{R}^d} p(K(t+t_0) + K(s+t_0, t+t_0), y) \times R(u(s+t_0, y)) dy ds,$$
(5)

where

$$\bar{u}(t) = \int_{\mathbb{R}^d} p\left(K\left(t+t_0\right), x\right) u(t+t_0, x) dx.$$

The desired condition, on blows up of (2), is a consequence of the following fact.

Lemma 9. If \overline{u} blows up in finite time, then u also does.

Proof. See Lemma 2 in [4]. ■

4. PROOF OF THEOREM 1

From (5) and using (ii) of Lemma 7 we get the underestimation

$$\begin{split} \bar{u}\left(t+t_{0}\right) &\geq c(t_{0})p\left(K\left(t+t_{0}\right)+K\left(t_{0},t+t_{0}\right)+\gamma,0\right) \\ &+ \int_{0}^{t} \int_{\mathbb{R}^{d}} \left(\frac{K\left(s+t_{0}\right)}{K\left(t+t_{0}\right)+K\left(s+t_{0},t+t_{0}\right)}\right)^{d/\alpha} p\left(K(s+t_{0}),y\right) \\ &\times h(s+t_{0})R(u(s+t_{0},y))dyds \end{split}$$

and Jensen's inequality yields

$$\bar{u}(t+t_0) \ge c(t_0)p(K(t+t_0) + K(t_0, t+t_0) + \gamma, 0) + \int_0^t h(s+t_0) \left(\frac{K(s+t_0)}{K(t+t_0) + K(s+t_0, t+t_0)}\right)^{d/\alpha} R(\bar{u}(s+t_0)) ds.$$

Applying now the property (i) of Lemma 7 we obtain

$$\begin{split} \bar{u} (t+t_0) &\geq c(t_0) (K (t+t_0) + K (t_0, t+t_0) + \gamma)^{-d/\alpha} p (1,0) \\ &+ \int_0^t h(s+t_0) \left(\frac{K (s+t_0)}{K (t+t_0) + K (s+t_0, t+t_0)} \right)^{d/\alpha} R (\bar{u} (s+t_0)) \, ds \\ &\geq c(t_0) p (1,0) \left(2K (t+t_0) + \gamma \right)^{-d/\alpha} \\ &+ \int_0^t h(s+t_0) \left(\frac{K (s+t_0)}{2K (t+t_0)} \right)^{d/\alpha} R (\bar{u} (s+t_0)) \, ds. \end{split}$$

Let

$$v(t) = (2K(t+t_0))^{d/\alpha} \bar{u}(t+t_0), \quad t \ge 0,$$

then

$$v(t+t_0) \ge c(t_0)p(1,0)\left(1 + (2K(t_0))^{-1}\gamma\right)^{-d/\alpha} + \frac{1}{2^{d/\alpha}} \int_0^t h(s+t_0)(2K(s+t_0))^{d/\alpha} R\left(\frac{v(s+t_0)}{(2K(s+t_0))^{d/\alpha}}\right) ds.$$

Let us consider the integral equation

$$\bar{v}(t+t_0) = c + c \int_0^t h(s+t_0) (2K(s+t_0))^{d/\alpha} R\left(\frac{\bar{v}(s+t_0)}{(2K(s+t_0))^{d/\alpha}}\right) ds,\tag{6}$$

where c is a positive constant. Set

$$w(t+t_0) = (2K(t+t_0))^{-d/\alpha} \bar{v}(t+t_0), \quad t \ge 0.$$

Observe that, by (6),

$$\frac{d}{dt}w(t+t_0) = ch(t+t_0)R\left(\frac{\bar{v}(t+t_0)}{(2K(t+t_0))^{d/\alpha}}\right)
- \frac{d}{\alpha}2k(t+t_0)(2K(t+t_0))^{-\frac{d}{\alpha}-1}\bar{v}(t+t_0)
= ch(t+t_0)R(w(t+t_0)) - \frac{dk(t+t_0)}{\alpha K(t+t_0)}w(t+t_0).$$
(7)

We are going to prove that w blows up in finite time, but first we will see that w is not bounded.

Lemma 10. We have $\lim_{t\to\infty} w(t) = \infty$.

Proof of Lemma 10. Using the Hypothesis (H7) we can find $a_1, \delta > 0$, such that

$$\frac{R(x)}{J(x)} > a_1, \quad \forall x \in (0, \delta].$$

By Lemma 1 in [8] there exists a constant M > 0 large enough such that

$$\frac{R(x)}{x} > 1, \quad \forall x \in [M, \infty).$$

On the other hand, the continuity of $x^{-1}R(x)$ in $[\delta, M]$, implies that there exists $a_2 > 0$ for which

$$\frac{R(x)}{x} \ge a_2, \quad \forall x \in [\delta, M].$$

Choosing $a = \min\{a_1, a_2, 1\}$ we have

$$\max\left\{\frac{R(x)}{x}, \frac{R(x)}{J(x)}\right\} \ge a, \quad \forall x > 0.$$

The submultiplicative property of J (Hypothesis (H6)) yields

$$(2K(s+t_0))^{d/\alpha} R\left(\frac{\bar{v}(s+t_0)}{(2K(s+t_0))^{d/\alpha}}\right) \ge a \min\left\{\bar{v}(s+t_0), \tilde{a}(2K(s+t_0))^{d/\alpha}\frac{J(\bar{v}(s+t_0))}{J((2K(s+t_0))^{d/\alpha})}\right\}.$$

Now let us consider the equation

$$z(t) = c + c \int_0^t h(s+t_0) a \min\left\{z(s), \tilde{a} \frac{(2K(s+t_0))^{d/\alpha}}{J((2K(s+t_0))^{d/\alpha})} J(z(s))\right\} ds.$$

By the comparison theorem we can see that

$$z(t) \ge \min\{z_1(t), z_2(t)\}, \quad t \ge 0,$$

where

$$z_1(t) = c + ca \int_0^t h(s+t_0) z_1(s) \, ds,$$

$$z_2(t) = c + ca\tilde{a} \int_0^t h(s+t_0) \frac{(2K(s+t_0))^{d/\alpha}}{J((2K(s+t_0))^{d/\alpha})} J(z_2(s)) \, ds.$$

The Hypothesis (H8) implies that z_2 blows up in finite time, therefore $z(t) \ge z_1(t)$ for t large enough. Then the result follows from Hypothesis (H5).

It is clear that \bar{v} blows up in finite time if and only if w also does. Let us suppose that $w(t) < \infty$ for all $t \ge t_0$, then the Hypotheses (H1)–(H2) and the previous result implies (see Lemma 1 in [8])

$$\lim_{t \to \infty} \frac{w(t)}{R(w(t))} = 0,$$

then (H3) turns out

$$\lim_{t \to \infty} \frac{dk(t)w(t)}{\alpha K(t)h(t)R(w(t))} = 0.$$

Therefore, there exists a $t_1 > 0$ such that

$$\frac{dk(t)w(t)}{\alpha K(t)h(t)R(w(t))} < \frac{c}{2}, \quad \forall t \ge t_1 + t_0,$$

then (7) can be subestimated as

$$\frac{d}{dt}w(t+t_0) \ge \frac{c}{2}h(t+t_0)R\left(w(t+t_0)\right), \quad \forall t \ge t_1.$$

Let \bar{w} be the solution to

$$\frac{d}{dt}\bar{w}(t) = \frac{c}{2}h(t)R\left(\bar{w}(t)\right), \quad t > t_0 + t_1, \\ \bar{w}(t_0 + t_1) = c.$$

This implies

$$\int_{t_0+t_1}^t \frac{\bar{w}'(s)}{R\left(\bar{w}(s)\right)} ds = \frac{c}{2} \int_{t_0+t_1}^t h(s) ds.$$

Doing the change of variable $z = \overline{w}(s)$ we have

$$\int_{\bar{w}(t_0+t_1)}^{\bar{w}(t)} \frac{ds}{R(s)} = \frac{c}{2} \int_{t_0+t_1}^t h(s) ds, \quad \forall t > t_0 + t_1.$$

The continuity of R and the non-negativity property of h imply that

$$\infty > \int_{\bar{w}(t_0+t_1)}^{\infty} \frac{ds}{R\left(s\right)} \ge \frac{c}{2} \int_{t_0+t_1}^{\infty} h(s) ds.$$

This contradicts the assumption H4. Therefore there exists a $t_e > t_0$ such that $\lim_{t \uparrow t_e} w(t) = \infty$.

ACKNOWLEDGMENTS

The author wish to thank the referee and the editor for his helpful remarks and suggestions. Supported partially by the grants PIM13-3N and PIM14-4 of UAA.

REFERENCES

- M. Guedda, M. Kirane, A note on nonexistence of global solutions to a nonlinear integral equation, Bull. Belg. Math. Soc. Simon Stevin 6 (1999) 491–497.
- [2] J. Gustavsson, L. Maligranda, J. Peetre, A submultiplicative function, Indag. Math. 92 (1989) 435-442.
- [3] J.A. Mann Jr., W.A. Woyczyński, Growing fractal interfaces in the presence of self-similar hopping surface diffusion, Phys. A 291 (2001) 159–183.
- [4] A. Pérez, J. Villa, A note on blow-up of a nonlinear integral equation, Bull. Belg. Math. Soc. Simon Stevin 17 (2010) 891–897.
- [5] A. Perez, J. Villa, Blow-up for a system with time-dependent generators, ALEA 7 (2010) 207–215.
- [6] Y.W. Qi, H.A. Levine, The critical exponent of degenerate parabolic systems, Z. Angew. Math. Phys. 44 (1993) 549–265.
- [7] M.F. Shlesinger, G.M. Zaslavsky, U. Frisch (Eds.), Lévy Fligths and Related Topics in Physics, in: Lecture Notes in Physics, vol. 450, Springer-Verlag, Berlin, 1995.
- [8] S. Sugitani, On nonexistence of global solutions for some nonlinear integral equations, Osaka J. Math. 12 (1975) 45–51.
- [9] J. Yeh, Real Analysis, Theory of Measure and Integration, World Scientific, 2006.